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Note: you have four choices for each objective type question as A, B, C and D. The choice -u/ J’/’;-uwr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No crgdit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) A4cm long chord subtends a central angle of 60° ket “gt‘b«.,:UK 60° /j})ﬂﬂ{ 4 [ (1)
The radial segment of this circle is:
(A) 1em 1 (B) 2cm (2 (C) 3em (3 é/ticm 4
(2) The circumference of a circle is called: . ..c.blbfb,f(@/b (2)
(A) Chord 7 (B) Segment (€) Boundary w/ (D) Tangent JV¥
(3) Standard form of quadratic equation is: -:L.fd/g»d/:,bud};» (3)
A) bx+c=0,b%0 (B) ax2+bx+c=0,a¢0
(&) ax2=bx,a¢0 (D) ax2=0,a¢0
(4) If o, B arethe roots of i o+ ImAL 3 4S5x-2=0 ebe Boca S @
3x2 455 -2=0 then o + P is ,
5 3 =5 =
(A) 3 (B) 3 (©€) 3 (D) 3
(5) The discriminant of ax? +bx+c=0is -c_m/.fu/gax + bx +c=0 bl (5)
(A) b% - dac (B) b2+ dac () ol i i (D) —b% - 4ac
(6) In continued proportion -;.m(,/t—: b oYl et o 'a' i oac = b a: b =hie qu (6)
g hb=b:c ac=h>, 'b' issaidtobe proportional between 'a' and 'c'.
(A) Third -+ (B) Fourth ¥z (€) Means b (D) Second 5
(7) Find 'x' inproportion 4 ; x ::5:15 e x U 4ixnsi1s ()
w2 ® 2 © > ©) 12
4 3 4
(8) The identity (5x+4)2 = 25x% +40x+16 is true for: -g._yj:{.éi (5x+4) = 25x% +40x+16 ks (8)
(A)Onevalueof x  =d fif x (B) Two values of x Ustnd x
(C) All values of x u}:?(V"J x (D) Three values of x ubf bl « .
(9) A collection of well-defined objects is called: : -‘at‘lk&rf (1{“’6 Is (9)
(A) Subset .',:C({ (B) Power set <xul  (C) Set &r i (D) Improper set ;»:_,o.b/f
(10) The number of elements in power setof {1, 2, 3 }is: e Gkl e L {1,2,3} (10)
(A) 4 (B) 6 €) 8 D)9
(11) A grouped frequency table is also called: -C-LWWdU’U s, (1)
(A) Data s (BY Frequency distribution (J Y (C) Frequency polygon bxxguﬁfdw ) Histogram /’uj ¢
{12) The most frequent occurring observation in a data set is called: -c;-d!kf/édbi—’? 23l S e Y - (12)
(A) Mode »sk (B) Harmonic mean 1.,,:._,6;7’/2 (C) Median -5 (D) Geometric maan hsl(xb!
(13) L] Radians = =/t EZ— (13)
(A) 115° (B) 135° (C) 150° (D) 30°
(14) Radii of a circle are: -ugmu&__}w.,g (14)
(AYAll equal lzpV? (B) All unequal 4Lz
(C) Double of the diameter b@c,/ﬁ (D) Half of any chord Z;:ic;/:u’u/
(15) A line which has two points in common with a circle is called: g el LSl (15)
(A) sine of a circle sine K /b (B) cosine of a circle  cosine e s
(C) tangentof a circle  tangent 6. /1) tz)} secantof acircle  secant e i
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MATHEMATICS (SCIENCE GROUP) GROUP+ by - o/ (o) UV S

TIME ALLOWED: 2.10 Hours SUBJECTIVE _iL» 2240 = &y
MAXIMUM MARKS: 60 min-4|-21 60 = AF
NOTE: Write same question number -‘Lauuf.;_,;,gwﬁ;é @»A’Zx;k‘d’f@{(é iz s

and its part number on answer book, as given in the question paper.
SECTION-l sl.o

2. Attempt any six parts. 12=2x6 gz e 3 24y
(i)  Write the quadratic equation in the standard form: & =5 x+1l 6 -ﬁwdﬁwyx/@w&w 0%
X+ X
1 9 : 1% 9 ..
(i) Solve (Zx - —-) =2 -2 =2 ZEF
2 4 ) 4
(i)  Define radical equation. -é_.gfﬂ,(abvd/)g (WY )
(v) Evaluate o P +o7 V7 0B 1o _Zped (v '
(v) Wirite the quadratic equation having foliowing roots: Y2, =2 -ﬁg&'}vd/wd'ﬁﬁnﬁfw (v
(vi) Find the product of complex cube roots of unity. -éfﬁ’gﬁd” b(,»ﬂl/jg@’? /fié(f (vi)

y=08 G X e x=2 £ y=8 sunterd VY u xS iy
(viiy If ¥ variesdirectlyas x,and y =8 when x=2/find x when y =28

(vil) aociz and a =3 when s b=8 BEP o« b=4 w2 a=3 Has-g (i)
" |
b=4, find a when p=§
(i) Find a mean proportional between x%— y2, X2 eyl IZX ,g,{(:‘*‘..,/bﬂlém (ix)
xX+y xX+y
3. Attempt any six parts. 12=2x6 -g;i/i.:,gmérmgc,df =340
(i)  Resolve into partial fractions. — ot -2—)-(-—_—-5—— -L[/Jiv LU S M
x° +2x -3 x“+2x-3
(i) What are partial fractions? sl Bz (i)
(i) ¥ X =1{1,4,7,9} and G XUY Y =1{2,459} 4 X={1.479} /I i@
Y=1{2,4,59} thenfind XUY
: . Y y
(iv) Define a sub set and give one example. -@JV@QH'J,/%‘/"JMU{ ()
(v) Define a function. : LSS W
(viy If4=N and B =W then find the value of 4 — B e df A-Biun B=W s A=N I @)
(vii) What is Histogram? ' ?U:Z%fﬁjf‘;o} ¢ ()
* - 33 ',
(viil) Write the names of two measures of central tendency. -u:‘”dftiu/g,nﬁu@ud/} (Vi)
(ix) Define Arithmetic mean. SIS (%)

(£10s)



tly - belne ralio ana give one example. ” "N -a ’ .y - odinide B0 )

(i) Find x if 6:x::3:5 ~g§(}"" X 6:x:3:50 Gi)’
1= 1° .
(i) Locate the angle 22—2— in xy —plane. . ' S —xy 22~2— P2 )
(iv) Change into radians. _15(° -150¢ ~5f,=(<,b,f“ui'q,§/ (i)
(v) Find © whenr=2.5m, /= 45m (=457 r=25K BEH 0 ()"
(vi) Locate the angle in standard position using ~100° -& bt Mol 3 Pl }f/?{/a“.;u (vi)
a protractor or fair free hand guess. —100°
(vii) Define an angle. Sl ()

(viiiy Ina AABC , calculate mBC when mAB = 5cm, mAC = dem, mZA = 60° ,?.“é(}‘” mBC Je ABC (viii)

(ix) Divide an arc of any length into two equal parts. vg‘:((:w :ji'ur"/.l/.»fu’ ;LgJ dU(f( (ix)
SECTION-II (5.2
24=8x3 e G 9 e n L e §F i

NOTE: Attempt any three questions but question No.9 is compulsory.

5(A) Solve 4xi=0x2_4 axt=9x%-4 ESF (U)S
(B) Forwhatvalue of k . OV K222k 4 ) x+ 4 Sl L3S k(L)

the expression k2 x? +2(k +1) x + 4 is perfect square.

\/x2+2+\/x2~2
x2+2—\/x2—2
\/x2+2+\/x2—2 _5

\/x2+2-—\/x2—2
2

2 v
(B)  Resolve into partial fractions —> aB ¥ X +2x+1 wgﬁ,}f’/ Su 7 (W)
(x—2)(x+3) (x—2)(x+3)

EF =2 al St S e (L6

6.(A)  Using theorem of componendo-dividendo solve

-

R={(x,y)x+y=6}-tltbhy M e LI M={ylyePry<io}sl={xixeNaxs5} (.7

7A) fL={x|xeNAx<5}, M={y|yePAy<10 }then make relationfrom Lto M R={(x,y)|[x+y=6}

| (B)  Find standard deviation 's' . 9,388 9 8 9, 18 st O ()
g
| 8.(A)  Verify (cot® + cosecd ) (tan® — sinB ) = secO — cosH gt ()-8
(B)  Circumscribe a circle about an equilateral -5t 4 GUJ bb};éw.?.uf L.ofb/{f( ABC &lfuopish, ()
triangle ABC with each side of length 4cm.
9. Prove that a straight line, - btnp s BB S5 (5 k)]:u/ eIl Gt -9
drawn from the centre of a circle to bisect a chord (which is not a diameter) is perpendicular to the chord.
OR |

Prove that if a line is drawn -g_tszVK:./’f»/n?L(g%f{ﬁdbﬂ&{ﬁﬂu’%ﬁdl}/{;}bj‘ Sk
perpendicular to a radial segment of a circle at its outer end point, it is tangent to the circle at that point.




MATHEMATICS (SCIENCE GROUP) GROUP-lI - orr (gl U WO

TIME ALLOWED: 20 Minutes OBJECTIVE (ﬂ/’,& e 20 =
MAXIMUM MARKS: 15 Min - 622 | = AF

S b il eme gt i bosi vl Jr Q8317 - L4 D i C B A uu;,@w_dwf oy
/;/J'r’gﬂ K@bbgf“/d[d‘u}f‘dd../,«/ !()}/‘) -g:”ﬂdbliuf:’uj’;u*u/}"(fL_/r/ /—«K L a./fu:/fnma,J i)
Note: you have four choices for each objective type question as A, B, C and D. The choice _u’/ J’)}uulr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Two linear factors of x* — 15x + 56 are: G L L x*—15x + 56 (1
(A) (x=7),(x—8) B (x+7),(x=8) C)x-7),(x+8) (D) (x+7),(x+8)
(2) Product of cube roots of unity is: L bl S8 @)
(A) 0 (B) 1 (C) -1 (D) 3
(3) o? + B2 is equal to: . ,‘gf.l/.ocz + B?‘ (3)
2 _p? (B>%+§2— ©) (a+B) -2ap (0)a+p
o
(4) Inaratio x:y,'y' iscalled: ) :iz.blk( i o HiP e (4)
(A) Relation 5 (B) Antecedent f/&f (C) Consequent (/1§ (D) Proportion &
(5) The third proportional of x? and 3% is: 4._,/(?!/:" ¥ y2 s x% (5)
4 2 2
(A) 25 B) 27y © % 0) =
? ] x % % Bl
(6) s: il (6)
(x—l)(‘c+2) TN x=-D(x+2)
(A) A proper fraction /_,o.f,« (BY An identity el
(C) An improper fraction ~—zls (D)Aconstant term (/
(7} The set having only one element is called: -C_ITM mf ..f .J/u” S (7)
(A) Null set e (B) Power set 22wl (C) Singleton set wu (D) Subset wu{
(8) If A and B are disjoint sets, then AU B is equal to: -~ by AUB  Juserd // B s A S (8)
(A) 4 (B) B (C) ¢ (D) BUA
(9) Adata in the form of frequency distribution is called: ~4-W( i Q/(‘J ol 9
(A) Grouped data :Vd;/ (B) Histogram ,ﬁ’uJ ¥ (C) Ungrouped data :!/du)}’ (D) Polygon CLVJI//
(10) The measures that are used to determine the degree or extent _aLM T (:‘-’”f Z,/d/d’ yu":b’i,ir it (10)
of variation in a data set are called measures of:
(A) Dispersion & (B) Average L~ (C) Central tendency u\?ud?} (D) Domain ¢33
(11) secH cotd = =secO cotd  (11)
. 1 1 sin0
(A) sin® (B) vy (€) o (D) ==
(12) Line segment joining any point of the circle to the centre is called: ,ﬁ;.tiﬂr(b;ﬁﬂbé.uf}(/cﬁ}u’f Loy (12)
(A) Circumference &5 (B) Diameter # (C) Radial segment (51, (D) Perimeter bb!
(13) Atangent line intersects the circle at: -z.WL/M/J»J (13)
(A) Three points 4L@uf_ (B) Two points 4L‘;c5» (C) Single point /MJ (D) No point at aliu“u /.&d
(14) The semi circumference and the diameter of a circle ,c.br,:!/u//'gu:‘;wmw.w‘.;/ (14)
both subtend a central angle of:
(A) 20° (B) 180° (C) 270° (D) 360°
(15) The measure of the external angle of a regular octagon is: -adnw‘fuhud;/éu/(‘”_f (15)
® = ®) = © ©) 17

32(Obj) *)«2021(/\)-40000 (MULTAN)
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SSC PART-Il (10th'CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-II b oo (o FU) F
TIME ALLOWED: 2.10 Hours SUBJECTIVE _Uil» £210 =

MAXIMUM MARKS: 60 MTr “GL-2| 60 = Af
NOTE: Write same question number ..4.@»&%.{4&,&5 RV L] S LAY,

()

(vi)

and its part number on answer bhook, as given in the question paper.
SECTION-l (sl.o

Find the nature of the roots of quadratic equation: 262~ Tx +3=0 -;é(}‘” (LJ’JJHL&"VJ«M

2. Attempt any six parts. 12=2x6 -g?;/auzzimg:,d/ 224
Write the quadratic equation in the standard form: (x+7)(x-3)=-7 -&J u:fg/gv/mw’.w,
(i) Solve the equation using quadratic formula 2 — x% = 7x 9~ 5 =T ~§f‘f = JEAL Uy S6Gams (W(
(i) Define exponential equation. ' i s (i/ ]
(iv) Find the discriminant of the quadratic equation, 6x%~ 8x +3=0 -é(P;ﬂJ}KabV&u» \{ f
(v)  Without solving, find the sum and produict of the roots of -ép‘”.,ﬂ}" bslord K‘,f"u/ﬂ 4J’fauv&m, y)/ <
quadratic equation. 7x2 - S5mx+f/n =0 7x2 —S5mx +9n =0

(vii) Find the value of 7 if the ratios AL 348 2p+5:3p+ 4 u%@ffr)‘”afJ p (vj»/

2p+5:3p+4 and 3:4 areequal

z

y=35 &P g x=3 cay=7 4 yex S i)

(viil) If yocx ,and y=7 when x=3, find x when y =35

- ()

(ix) Find the third proportional. (x — y)%, x° - )’ (x=p)?, £~y -.é(’l”»«/wﬁ: (ix)

3. Attempt any six parts. 12=2x6 -g{{fa@iﬁf."/'[’@’c.df 340

(i)  What is an improper fraction? e dnlf Al (H/

(i) Resolve into partial fractions. =1l bt ~.£J"V SFY I

(x-4)(x+3) (x —4)(x+3)

(i) If X=¢, v=z" thenfind XU XUy &b y=2t «x=¢ N (iy””
f Xx=¢, T=0" thenfind XNT XNT&Epln T=0" X =9¢ S (( ‘

(v) Define a subset and give one example. -éﬂﬁ‘vgﬂ‘s‘.:rsé’/?u(&:’y (W

(vi) Define bijective function. AP W

(vii) Define class mark. EoflEde

(viil) Define arithmetic mean. . _équ»,zQu ingd

(ix)

Define range. Sl




(i)  State theorem of cvémpo'néﬁdo-dividen&o. M W'QL'L’ o -éuywdff”;.,[ A

(i) If zc xyand z =36 when -é()‘” z  y=3 cx=2 w2 2=36 5 zo xy/l

x=2, y=3 thenfind z.

(i) Locate the angle 135° in x y—plane. - I -“Lf:/ztﬁuf&ﬁ/“fo 1359 il

’
»
(iv) Express 60° into radians. -d,fgufcﬁﬂi// 60° U’/ »
(v Find 6, when ¢=45cm, r=2.5cm 0 =45cm, r=25m Bk 0 W
(vi) What is sexagesimal system of measurement of angles? ?.%gf(wu' L«ILZVKJ“/ E;,d/u,fﬂ] M
(vi) Find r , when 8 =45 and £ = 56cm £=56( 40 =450~.6~$’.—“’/(’L‘” g M

(viil) Ina A4BC, find mBC when m<ZA = 60°, mAB =Scm, mAC =4cm /7% mBC Ut AABC (Vi)
AT

(ix) Divide an arc of any length into four equal parts. -55“—((? :J:ur"’/.’/./lgi(d LN GUL{ (ix)
SECTION-II (0.2
24=8x3 O 9w fep L et 3 o
NOTE: Attempt any three questions but question No.9 is compulsory.

5.(A)  Solve the equation by completing square. 3x2 +7x =0 -éfd"d/g}:‘{ :g/),falsk/ (Jﬁ(
(B)  Solve by using synthetic division, SR 5 10x2 £ 9 = 0l 3 sl 1 ﬁéd?.jj uff/“.g/}} (\d/

if 1 and 3 are the roots of the equation x* - 10x% + 9 =40

_ SR8 fi feed 523005539 4 firendf D (906

P9 s+3p 7 .5-3q
6.(A) By using componendo-dividendo theorem, find the value of St o 2F 7y i &= o
s+3p s-3¢q p—q
2 2 .
(B)  Resolve into partial fractions B i sl gt 72x 2. -u:/f ub/dfz ({
(x +2)*(x+3) (x +2)%(x+3)
(AUBY = ANB Zebdn U={1,2, 3, --—~—10} #B={2,3,57} 4={L35, 7,9} A (M
T(A) 4={1,3579} B={2,357}adU={1,2, 3, -———,10 }then verify (4UB) = 4 NB
(B)  Find the standard deviation of 11500, 12400, 15000, 14500, 14800 -é(’b”&l/.‘dzy» /
8(A) Verify that secO +1 _ secO +1 secH +1 _ secO +1 féﬁ/ﬁ (U8
secd —1 tan©® secO — 1 tan®
(B)  Draw two common tangents to two -uﬁ*{jVJ ;-%Lul -ug( 35 u!(’ 25 JbLu;?bLﬂZ,fJ’» ()
touching circles of radii 2.5cm and 3.5¢cm.
AN . . "
9. Prove that a straight line, e by B S (s 2) e ol o 3 JEL e
drawn from the centre of a circle to bisect a chord (which is not a diameter) is perpendicular to the chord.

OR |
Prove that if a ling is drawn -;.wWL;f»/u?z_@gf%;:Jumté_{yﬂu%ﬁmum;m SE
perpendicular to a radial segment of a circle at its outer end point, it is tangent to the circlevat that point.




